P22

(2)

503

(E1)

WSESEL

B R4 = usefulness, utility, state of being beneficial
< e

&RIC iID Z & =to be useful, being useful

(E£2)
H N AWV

FI{EM = convenience
N A D
fEF & = convenience

(E3)

20 ERZE

#& D 1EAL = the last house (dwelling, residence, den, habitat)
CAtWn

Eo) El W3z
AN&E%Z #Z% £T ED I =the house where you live until you end your life
#& 2 £ g2 =finish, terminate, end, complete

The sentence is written in the plain-style.

Uw>E &
£& =finish, terminate, end, complete /

%Z <direct-object particle> /

i'éid’o‘ > & 9 % = <plain-style-nonpast-affirmative> of E&> & U X9 = be about to buy
volitionally

*B&H S = volitional-form of EWWE T

*[volitional-form] & U &9 = be about to do ~ volitionally /

& E &, =when (X) do / did, etc ~

L& ATE " 5
Z D BEEMS {fifE = its value of one's property (assets), its property (asset) value /

\C <recipient particle> /

%E% %b\’c =Em% B<, #ULT. =puta special emphasis on ~, put the accent on ~,
emphasize ~ /

%ﬂ}‘_é = <plain-style-nonpast-affirmative> of & X & 9" g2 = consider, think over /

U)\t = a person /

— the person who puts a special emphasis on that property value and consider

Y <subject particle> /

Er;Zfb\c, = <plain-style-nonpast-affirmative> of %L\ T9, = (X) is many. /

When they are going to buy a house, many people put a special emphasis on its property value
and consider.
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LED A IC &> . = from the viewpoint of ordinary people, for ordinary people N2 No.11
&z ZF = once in a lifetime /

dD <possession particle>/

i%b\% = shopping /

& <quotation particle> /

T%H =~ or something N2 No.

WS REHED T=WSXRE HD £, LT =(X)is the thing which we should call (say) ~
and ....... N2 No.105/

7%’7%%0) %ﬁ = a large sum of money, large amount of money /

j?:\ <direct-object particle> /

BV X < TE 8572\ = <plain-style-nonpast-affirmative> of B & < T RO XA =

must spend
*E¥ U £ 9 g1 =spend, devote, waste /

DT, =because ~,/

ESEA

WIRD Z & T2, = <plain-style-nonpast-affirmative> of 248D Z & TY, =itis quite natural
that ~, it is a matter of course that ~ //

It (buying a property) is the thing which we should call a once-in-a-lifetime’s shopping or
something and we must spend large amount of money, so it is quite natural.

%o fc %?C = after buying,

%5 h D %T%;T = because of some circumstance (situation, condition, reason) or other
*f 5/ = some .... or other /

=5 < TR BSAEW = <plain-style-nonpast-affirmative> of 555 &< TI& & D £ A =mus
sell /

jilé = wainscot, wood panel or lining on the walls of room; panel, plight /

[c/

% o o = <plain-style-past-affirmative> of 7 D £ 9 g1 (become)

*~PBIC 77D ¥9 = get stuck with (some job), end up with (something unpleasant) /
& &, =when (X) do / did, etc ~ /

— when you end up having to sell your property because of some reason or other, /
{%1% = value, worth, merit /

hHY <subject particle> /
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FhU&S

A U T Wi = <plain-style-past-affirmative> of J84* LT \WWE 9 = (X) has already decreased /
D TiF=if ~ &

ﬁmﬁgﬁz

KIBE = great damage (injury, loss, harm) /
% <direct-object particle> /

50

5T
5, = <plain-style-nonpast-affirmative> of #2 D &3 g1 = suffer, feel pain, experience loss or

harm, endure misfortune; be punished
— KEBE% # 5, =suffer a great loss /

When you end up having to sell (your property) for some reason whatsoever after buying it, you
will suffer a great loss if the value has decreased. 8-

7‘:75\ = but,
E%fi & T = for a house (dwelling, residence, address), from the viewpoint of a house N2
No.11/
£D %%%{ @ = more important thing /
|& <topic particle> /
B5E5EN

D BEMTH S, = <plain-style-nonpast-affirmative> of ZD BRAMETH D £9, = (X)isits
usefulness. //

But, more important thing for a house is its usefulness.

5
FH ¥ I & =tobe easytolive &

A <subject particle> /

Z}ZD\%E M = the fact that (X) is necessary /

H 5 % A TZ = <plain-style-nonpast-affirmative> of £ 3 A TT = (X) is quire natural, (X) is a

matter of course /

H\ =but,/

L3R A

BR®D T4 7 X% A)L =one’s own lifestyle /
rl

ﬁj? fc = <plain-style-past-affirmative> of & L\E 9 g1 (match, fit, suit, agree with) /
%E = structure, construction, building /

— the structure which suits your own lifestyle /

(c/

7% > T L3 = <plain-style-nonpast-affirmative> of 7x > T LWE 3 = become /

& H™ = among other things, such things as, or something like that /
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gLhD

AJED LI L) = <plain-style-nonpast-affirmative> of £5EAY U ¥ 9L\ T = be easy to live

(lit: the life is easy to do)

*Subject particle ‘ga’ in a modifying sentence can be changed to ‘no’. /
bf%gi%j = environment /

— the environment which you can live comfortably /

|C <existence particle> /

H>CT=5H%, €LT. =thereis ~and ..., (X) have ~and .../
%U}%T% = convenience /

(c/

E%/U’C‘ L\ % = <plain-style-nonpast-affirmative> of E AT L K 9 = be rich
* Eé??{} g1 = be rich, become rich

& H = = among other things, such things as, or something like that /
2 <possession particle>/

M= = spot, mark, point, dot /
9

Uy

= also
> & 5%

s

TR BRTH D, = <plain-style-nonpast-affirmative> of EER BEXRTH D I, =(X)isan
important element (main component) //

The points such as it becomes the structure which suits your lifestyle, and it exists in the

environment which you can live comfortably and it is rich in convenience are also important
elements, not to mention that the comfort of living is necessary.

Zh 5 =those, they /
|& <topic particle> /
HhiEs
9 LH = (not) always, (not) necessarily, (not) all, (not) entirely /
BiFAWS EA H S%U@A
HE—#% D H{EEXE = standard of value of the general world /
& <accompaniment particle> /
|& <topic particle> /
WwWo 5
—E L%\, = <plain-style-nonpast-negative> of —2( LU £ 9" g3 (agree, concur; coincide,

happen at the same time) //

These things don’t exactly agree (correspond) with the standard of value of the general world.

L 7eh¥> T. =therefore, and so, hence, as a result, consequently, in accordance with, thus,
so/
L&A 75\/1,73\; hiz ) .
Bt D E X A =the way of thinking oneself (plural) /
> = etc, and so on /
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Lfeh®

TIEL\ E>T =%>. #LT. =conform (obey, comply, follow, accompany) and ....
%L\i@“ g1 = conform, obey, comply, follow, accompany /

Z 1 =that, that one, that thing /

/

< %

BosUebET=B5UEHES, #LT. =check, compare
*B5 LA XTI g2 =check, compare /

BATEA

¥} 9 % = <plain-style-nonpast-affirmative> of ¥Ji#7 L &£ 9" g3 = judge, assess /

02&5

WE = necessity /

1

2

— the necessity which you follow the way of your own thinkings and behavior patterns, and

compare it with that and judge /
¥ <subject particle> /

% %, = <plain-style-nonpast-affirmative> of &6 D £9, g1 =there is ~, have ~ //

Therefore, we need to follow the way of thinking of ourselves and behavior patterns, and
compare it with that and judge.

&<

¥5lC = especially, particularly /

2 ERCRA

D ML & LT = as the last home /

%mz_%) <plain-style-nonpast-affirmative> of %Z.i@' g2 = consider, think over /

& E I =when (X) do / did, etc ~ /

\& <topic particle> /

g;}f:é‘: D éé‘ % = way of life (lifestyle, manner of living) of oneself (plural) /

%Z <direct-object particle> /

[E>&ED & =clearly /

%gffﬁéb = %ﬁﬁ&b’t = BiR$ B, LT, =see through (make sure of, probe, check, examine;

get to the bottom line, figure everything out, get to the heart of the matter) and .....
* BiRéD £9 g2 = see through, make sure of, probe, check, examine; get to the bottom line,

figure everything out, get to the heart of the matter /
Z®D %ET'J—"/: = that opinion, that point of view, that visual point /
tc_ <arrival particle> /
_L’D fc 2 AT = after standingup N2 No.77
5% 9 gl =stand/
%}é UL ==&RULT=%FIRI %, £LT. =choose (select) and .... /
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ROT WH < T I BRS5RRV, = <plain-style-nonpast-affirmative> of R T WLWH < T (&
%D ¥ Ao =must carry on deciding, must continue to decide, must keep deciding

*[te-form] LWE ¥ 9 = continue to do ~, carry on doing ~

*[nai-form] < Tl& & D ¥ A =mustdo ~ //

Especially, when we consider it as our last home, we must continue to choose and decide after
probing the way of living of ourselves clearly and standing on that viewpoint.

E%ﬁ EtYo T <{ni& =if (X) have been growing older  *conditional-form

*F% D £9 g1 =glow older

* [te-form] & £ 9 =1 go there to do ~ and will be back 2 will have been doing until now,
continue todo ~/

f__._l?}i-j;@ Z & = natural thing, /

D5 =1 while doing ~ 2 but N2 No.144 /

HARD Z & M5 = naturally, not surprisingly, it should be appreciated that, understandably,
as a matter of course, as is obvious, as will be understood /

ﬁ%ﬁ?‘% = <plain-style-nonpast-affirmative> of %‘_}%DJ L £79 g3 = act, behave, act in a particular
manner /

wﬁ%@ﬁ = ability, power, capacity, capability, faculty /

|& <topic particle> /

Eo o)

EATZETC=RAT <%, #LT. =continue to become weak (decay, decline, wither,

become worn) and .... /

*Z|Z X9 g2 = become weak, decay, decline, wither, become worn

* [te-form] & £ 9 =1 go there to do ~ and will be back 2 will have been doing ~ until now,
c_:gntinue to do ~/

B = %3%) = <plain-style-nonpast-affirmative> of E1=[8] D 9 g1 = move around, walk around,
wander /

%{ = extent, scope, sphere, range /

|& <topic particle> /

i

¥FE->7T <%, =<plain-style-nonpast-affirmative> of ¥ % > T & £ 9 = will have been

narrowing (contracting, making narrow, lessening in width)
* JE D £9 g1 = narrow, contract, make narrow, lessen in width

* [te-form] & £ 9 =1 go there to do ~ and will be back 2 will have been doing ~ until now,
continue to do ~ //

If you grow older, the ability that you act continues to become weak and the range which you
move around continues to narrow.
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LW
E/\TJS D R4 = one’s own remaining years (plural) /

H¥ <subject particle> /

ED &5 7% HD = what kind of thing /

i/

74 % = <plain-style-nonpast-affirmative> of 7& D &3 g1 = become, get, turn /
M <question particle> /

L‘;l-,_\b? W = about ~, concerning ~, regarding ~ N2 No.10/

B _LT fc = <plain-style-past-affirmative> of &% 2 CTZX 9 g1 (make plans, plan, make a

scheme, plot, design, contrive) /
> Z.IZ = ~ and, in addition, ~ /

R 71 = (power of) imagination /

%Z <direct-object particle> /

Fres

BHhtE T =@HhtES, £LT. =work (activate, use, put someone to work, make someone

work) and ..... *causative-verb
* @M £ g2 = work, activate, use / put someone work, make someone work /

%é;&ifli_% = certainty, sureness, definiteness, certitude, assurance /

M <subject particle used in the modifying sentence instead of H%> /

%L\ = high, expensive /

%%ﬁﬂ = prediction, estimation, prognostication /

— the prediction whose certainty is high /

%i <d|rect -object particle> /

%EJ%_L‘C’C #H3, = <plain-style-nonpast-affirmative> of #&#32 T T # X9 = assemble,

construct, set up
* #AILTE I g2 = assemble, construct, set up

* [te-form] & & 9 = try to do ~, do ~ and see how //

You make plans about what your own remaining years will be like and, in addition,
you work (activate, use) your imagination and try to assemble the prediction whose certainty is
high.

H 5 W T Lfehd

Z D FEH I > T = with (following) that program for the future, in accordance with that
program for the future N2 No.7 /
&B N ZE = <plain-style-nonpast-affirmative> of {£& XZT9 =should live N2 No.105 /
%—bﬁﬁ = place, location /
— the place where you should live /
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@ <possession particle> /
FhES

B4 = aim, mark, estimate, guess, approx, direction
%Z <direct-object particle> /

DT, =25, £ULT, =attachand ....

* DIFET g2 = attach

FhES

*XD BHE%Z DIF XTI = prophesy (foretell, predict) X, make an guess of X, make an estimate

of X/

Lw>2& &8

EED KZE =the size of a house (dwelling, residence, residency, address, resident, housing)
/

P ...74&E =...and...etc(and soon)/

Z5%>

¥&1& = structure, construction /

BRE=....% ... 7R&E =....and ..... etc (and so on)

%Z <direct-object particle> /

5§%<V)'C LW<, = <plain-style-nonpast-affirmative> of ;R T L\ & £ 9 = continue to decide, carry

on deciding, keep deciding /
* [te-form] L& E 9 = continue to do ~, carry on doing ~, keep doing ~ //

You make an estimate of the place where you should live and continue to decide the size and
structure of a house in accordance with that program of the future.

H53A. =of course, /

ﬁ;l?@ %%'T%%L@ ggéé‘?& ;7{7)!3 = a big change of economic climate in the future /

%Z‘C\ =fEx %, LT, =prepareand .....

*fig 2 £9 g2 = furnish, provide for, equip, install, have ready, prepare for, possess, have, be
endowed with, be armed with /

%é%/t = budget, estimate

%z <direct-object particle> /

%% < = drastically

LicEb

TEl% = <plain-style-nonpast-affirmative> of T[a]D &9 g1 = less than; be lower than
ﬁ% = expenditure, disbursement, expense, outgo, cost, payment /
— the expenditure which is much less than a budget
i</
?fﬁi‘c &< Z & =to restrain (suppress; control) in advance (beforehand)
* ?ﬁii? g2 = restrain; suppress; control
* [te-form] & E X9 g1 = 1 do ~ beforehand (in advance) 2 do ~ for the future convenience
3leave ~ asitis
* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun). /
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H =also/

02&5

WETHD I & =to be necessary

* WETH B = <plain-style-nonpast-affirmative> of W E Td5 D £J = be necessary

* Here ‘koto’ is used to make a noun phrase (to change a verb to a noun).
|& <topic particle> .

WS £TH XL\, = <plain-style-nonpast-affirmative> of WD £ TH H D XA, = it goes

without saying; there is no need to say so, but of course; it is needless to say; it need scarcely
be said //

It is needless to say that of course, we prepare for a big change of economic climate in the
future and need to control our expenditures so that it becomes much less than our budget
beforehand.

el
& n { -
> Z7 2% #=IC EFH S =If you are an older person (and | want to emphasize this point),
ve i

ve in the C|ty /

Eﬂ‘é—\.% 5 U Tﬁb\ Lo [ELY) = Living in the country side is full of anxieties /
S0 &

PHP #ff%% PTlc & % = published by PHP research institute

(152

THAWS FA N 5 Elw

HE—A D {ﬂﬁ{EEE & LT = as the standard of value of the general world N2 No.1 /

%% = author, writer /

hY <subject particle> /

%%T = in the main body of the text /

&I TWB D = the thing which (X) mention

* 37T W5 = <plain-style-nonpast-affirmative> of 5 |7 T L E 9 = be giving now, be giving an

example now, be mentioning now
* »IFET g2 = raise, give an example, elevate, mention /
— the thing which the author mentions in the main body of the text /

|& <topic particle> /
7Rlc Rl

fAIh, = <plain-style-nonpast-affirmative> of f1 9 H\, =what is (X)?

What is the thing which the author mentions in the main body of the text as the standard of
value of the general world?

—

L&D
RHAIC 17c > 7T = over a long time period N2 No.68 /
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E&Uw>

[B{ETE % = <plain-style-nonpast-affirmative> of B{E T= £ 9 = can (live, reside, dwell)

* potential-verb of BfEU £9 g3 = live, reside, dwell /

%%T&Bé Z & =that (X) is property (article, thing, object)

* ¥4 T % = <plain-style-nonpast-affirmative> of #1#4Td D £ 9 = (X) is property (article,
thing, object)

* Here ‘koto’ is used to make a noun phrase (is used to change a verb to a noun) //

(It (= What the author mentions in the main body of the text as the standard of value of the
general world) is) that it (where you live) is the property which you can live over a long period.

2

L&S50nEnNE»<

2k 55809 % & ZF I = when (X) sell (offer for a price, offer for purchase) ~ in the future /
=also/

b >0

B Fl7% = profitable, lucrative, advantageous, paying /

BolFh

YT 3 2 & =that (X) is property (article, thing, object) /

* ¥ T % = <plain-style-nonpast-affirmative> of #1450 £ 9 = (X) is property (article,
thing, object)

* Here ‘koto’ is used to make a noun phrase (is used to change a verb to a noun) //

It is that it (where you live) is the property which should be profitable when you sell it in the
future.

3

235Uy tb\b')ct5b§ .

BEA & DAESERRT = purchaser’s lifestyle /
[C/

%

AN

=he) fc = <plain-style-past-affirmative> of & U\E 9 = fit, suit, agree with, match /
%%’C%% Z & =that (X) is property (article, thing, object) /

* ¥ T % = <plain-style-nonpast-affirmative> of ¥ Td D 9 = (X) is property (article,
thing, object)

* Here ‘koto’ is used to make a noun phrase (is used to change a verb to a noun) //

It is that it (where you live) is the property which suits a purchaser’s lifestyle.

(XN

Ji

([C 1

U
A B = when (X) buy (purchase)
<possession particle>/

Ji

°S @

2
EF = cost, expense /
e b

218 = burden, charge, responsibility /

If

HY = <direct-object particle> for the potential-verb /
B BEZ
I Z 51 % = <plain-style-nonpast-affirmative> of #1 2. 511X 9 = can restrain (suppress;

control) /
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BolFA
YT 3 2 & =that (X) is property (article, thing, object) /
* ¥ T % = <plain-style-nonpast-affirmative> of #1450 £ 9 = (X) is property (article,

thing, object)
* Here ‘koto’ is used to make a noun phrase (is used to change a verb to a noun) //

It is that it (where you live) is the property which you can restrain the burden of expense when
you purchase it. &

(153

OoULw MBIZ

EHD # X T I&. =according the author’s thinking /
EL &
F% B> T H5 = after growing older /

WX

T
{3 3R & LT = as the house where (X) live N2 No.1/

Lw>& A5

EE%Z #E3R & ZIC =when (X) choose the house (dwelling, residence, residency) /
bok

&b =the most/

fewg>

AYl7k Z & =important thing /
|& <topic particle> /

klc A

R
falhv, = <plain-style-nonpast-affirmative> of {1 9 h%, = what is (X)?

According to the author’s thinking, what is most important thing when you choose your house as
the one where you live after growing older?

N =—h

Sz W e

%D £ =7 = the way of life at the old age /

....and .... etc, ..... and .... and so on
585 0F AW _
TENERHE = the range of action

<+ of
I

J

FT =\

~ &

2\

ks
8> T W3 = <plain-style-nonpast-affirmative> of & > T L\EX I = be following now, be running

along now, be going after now

*5aWLWE T g1 = follow, go after, run along /
H <question particle> /

%Z <direct-object particle> /

BATEA

H¥I#r 9 B, = <plain-style-nonpast-affirmative> of ¥IiT L % 9" 3 = judge, assess

You judge whether it (the house where you live after growing older) follows the way of your life
and the range of your action at your old age.

2

S5z

352
£ =old age /
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|& <topic particle> /
Z5ES

1TEh9 % = <plain-style-nonpast-affirmative> of 1781 L £ 9 g3 = act, behave, act in a particular

manner /
D50 &<

B2 = ability, power, capacity, capability /

— the ability which (X) act /

¥ <subject particle> /

BED . . . BES ,

= A % = <plain-style-nonpast-affirmative> of = 2. £ 9 g2 = decay, become weak, decline,
wither, become worn /

1 = because ~; for the purpose of ~; for the sake of ~

WX Z5%D

KD #3& = the structure of a house /

%Z <direct-object particle> /

[o}s R [2}]

A
859 %, = <plain-style-nonpast-affirmative> of 5t U &£ 9, g3 = prefer, bring before (a
judge, governor, etc.), give ~ priority //

You give the structure of a house priority because the ability which you act becomes weak after
you grow older.

3

H 5N & %<

FFD FH = prediction (estimation, prognostication) of the future /
Z

IC JA > T = along ~, in the direction of ~, parallel to ~ /

55%67) e = <plain-style-past-affirmative> of ;&6 £ 9 g2 = decide /

%éé = budget, estimate /

— the budget which (X) decide in accordance with the prediction of the future /
&/

72U < 50\ = about the same /

D <possession particle> /

H D =thing /

% <direct-object particle> /

%/3‘0 = <plain-style-nonpast-affirmative> of #U*'& 9 g1 = choose, select //

You choose about the same thing as the the budget which you decided in accordance with the
prediction of the future

4
WD h = someday /

52 &= =when (X) sell
@ <possession particle> /
Z & =thing, fact, matter, object
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® =also

%%.‘C =#2%, #ULT. =consider and ..., think over and ....
*#&Z£9 g2 = consider, think over /

:’féfi E’éi@{ﬁ;ﬂfﬁ value of one's property (assets), property (asset) value /
:a'; ><bd|rect-object particle> /

E1789 %, = <plain-style-nonpast-affirmative> of Et8 U £ 9, g3 = attach importance, place
emphasis, take ~ seriously //

You consider the thing which will happen when you sell your property someday and place
emphasis on your property value.

54
bf?%%?)‘ ICDUWT, = about the selection of a house, the choice of a house /
%% = author, writer /
Y <subject particle> /
;fb = the most /
E L\ 72L) Z & =the thing which (X) want to say, what (X) want to say

* E L\ 2L = <plain-style-nonpast-affirmative> of S L\ 7L\ T3 = want to say

* Here ‘koto’ means ‘thing’. /

Li <topic particle> /
A

ﬂ?b\o = <plain-style-nonpast-affirmative> of il T9 H\, =what is (X)? //

What is the thing which the author wants to say most about the choice of a house? &

J}t

A =person/

H¥ <subject particle> /

%E@'% = <plain-style-nonpast-affirmative> of 4£5& U £ 9 g3 = live, support oneself /

£ =when (X)do~ N277B/

ERTR bf%jég = what kind of house (dwelling, residence, residency, address, resident, housing) /
|C <existence particle> /

&EB = <plain-style-nonpast-affirmative> of {£# X 9 g1 = live, reside, inhabit, dwell, reside in /
H\ <question particle> /

|& <topic particle> /

&ETH =very/

fewgD

RKUITHD, = RYITH>T. = KU THB, £LT, =(X)is important
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* Both [te-form] and [masu-form] can be used to join sentences, but [masu-form] one is more
formal.
* RYITdh % = <plain-style-nonpast-affirmative> of Kt T D £ = (X) is important /

Wo [FATE
—%B97%% = general, generalized, applied in a general manner /

{ﬁﬂﬂ%%ﬁé = standard of value /
© =also
%‘U%t U7z IE5 Y KUV, = <plain-style-nonpast-affirmative> of & (C U1z 5 A KWT
= had better refer to (direct attention to)
ig% L &9 g3 = refer to, direct attention to
* [ta-form] (&5 A LWWTT (LK UWWTT) = had better do ~

* [nai-form] (£5 A WLWWT T (KWW T ) = had better not do ~ //

Y

ok

What kind of house you live in is important when you support yourself, and you had better refer
to the general standard of value as well.

2

felc b
f8 A\ = another person, unrelated person, outsider, stranger /

&

%hi% = way of thinking, method of thinking, thought process, manner of working things out /
7'J\ <subject particle> /

EE > fo = <plain-style-past-affirmative> of 73 N F£ 9 g1 (differ, vary; disagree)

é: b’C H. =evenif ~ *similarto N2 No.142 /

B D H5E 24 1 )L = one’s own lifestyle /

%z <direct-object particle>

%%ﬁ LT =819 %, £LT. =make importance and ...., place emphasis and ...., take ~

seriously and ....

* B2 L ¥ 9 g3 = make importance, place emphasis, take ~ seriously /

ﬁ%ﬁb Tig = future house

%Z <direct-object particle> /

%% U7z 1F5 AY KL\ = <plain-style-nonpast-affirmative> of ;JRE ULz (5 DY KWTT, =
had better decide

* Ljﬁ% L &9 g3 =decide

* [ta-form] (&5 A LWWTT (K UWWTT) = had better do ~

* [nai-form] (£5 A WLWWT T (KWW TT) = had better not do ~ //

Even if the way of your thinking is different from other people, you had better put emphasis on
your own lifestyle and decide where you live in the future.

3
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= the change of future economic climate

IR
A

e
N~ Y
S
g
i
R
CV'E}-

T. ={8ZX %, #LT. =prepare for ~and .....
*fig 2 E£9 g2 = furnish, provide for, equip, install, have ready, prepare for, possess, have, be

endowed with, be armed with /
TE3/ZlF =asmuch as /

LT A D B

BEE{M{E = value of one's property (assets), property (asset) value /

M <subject particle which is used in the modifying sentence instead of H%> /

= Uw>E&

THD [T &5 7% £ = the house which it looks like that (X) is difficult to fall, the house

which (X) is likely to be hard to fall
*T’HYD £9 g1 = gall, hang down

* [masu-form] (£ < L\ T = be difficult to do ~, be hard to do ~

* [masu-form, stem of i-adjective, stem of na-adjective] > T9 =it looks like that ~, be likely
to do ~, be going to do ~ at any moment /

— the house whose value is likely to be hard to fall /

% <direct-object particle> / -

EAR ES A & L\ = <plain-style-nonpast-affirmative> of EAR 1ES A & WTY, =had
better choose

SRUOET g1 = choose

* [ta-form] (E5 Y LWWTT (K WTT) = had better do ~

* [nai-form] (5 A LWWTT (LK ULWTT) = had better not do ~ //

You had better for the changes of future economic climate and choose the house whose value
is likely to be hard to fall as much as possible.

4
ﬁ%’a“: EtY% IC DN T =as (X) grow older N2 No.8

* &% WD FI g1 =grow older /

TE@EZD i?%t = liking (preference, taste, choice of a house)

H =also

;%b 2T < % = <plain-style-nonpast-affirmative> of 10 > T & X9 = begin to change, will

have been changing

*Z P D EI g1 =change, be transformed, vary, be revised, be different, move location
* [te-form] & £ 9 = begin to do ~, will have been doing ~ /

e, = because ~~, for the purpose of ~, for the sake of ~ /

<D E%? = at those times /

dD <possession particle>/

Nah

# Z = thinking, thought, ideas, intention /
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[/
i)
BT =65, £LT. =match (join together, unite, combine, connect, add up, mix,

overlap, compare, check with) and ....
* B F I g1 = match, join together, unite, combine, connect, add up, mix, overlap, compare,
check with /
ULwS5E &
f£F = house, dwelling, residence, residency, address, resident, housing /
%Z <direct-object particle> /
EAT< - e : Lo S = 13
BEIRUZ 1ES A KU\ = <plain-style-nonpast-affirmative> of IR U7z (5 A LWTT, =
had better choose
Bhic<
* 3R UL £9 g1 = choose, select, pick up
* [ta-form] (E5 HY LWWTT (K WTT) = had better do ~

* [nai-form] (&5 HY LWWTT (LK LWTT) = had better not do ~ //

Because tastes in a house begin to change as you grow older, you had better match yourself
with your thinking at those times , and had better choose your house. 8-

Because tastes in a house begin to change as you grow older, you had better adapt yourself to
suit your thinking at those times , and had better choose your house. 8-
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